(Ejercicio 9, semana 2, préctico 2)

calor ganado

KdT

/(—KdT + KdT) =0

T en funcién de V
dT A RT

Vv~ K JK(V —b)
ar _(_ R\ 4V
T \ JK)V-b
[7 -], o) v
n T v JK )V —b
R
logT —logTy = <JK> (log(V —b) — log(Vp — b))

o\ R/IK
T=T, (VO b)

integrando

V-b
trabajo realizado

2V, _ 1\R/JK
B RTy(Vo — b) a
frov = [, (o )
ToJK (Vo — b)R/IE |27
o (V —b)R/TK + Vv

ToJK (Vo — b)F/ K a
— ToJK — —
(2Vy — b)RITK + 1o Vo

Vo

volumen final: 2V,
temperatura final:
RTy(Vp — b)l/ K
(2% _ b) R/JK

presién final:

RTy(Viy — b)RITK R/JK+1

(2Vo —b) Ay




